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1. Find	the	value	of7	+	5.58	✕	5.39 	+	8.19	✕	18.4	÷	3.68 	+	1.88	+	36.81	÷	4.09 	−	5.29

(i) 84.6162 (ii) 82.6162 (iii) 81.6162 (iv) 85.6162 (v) 83.6162

2. Find	the	value	of [30	÷	{[58.08	÷	9.68]	✕	[36.0452	÷	{9.29	✕	3.88}]}]

(i) 6 (ii) 4 (iii) 5 (iv) 3 (v) 7

3. Find	the	value	of5.88	+	5.29	✕	7.39 	+	 2.09	÷	2.09	✕	9.68 	+	30	÷	10 	−	4.58	+	6.19

(i) 57.2631 (ii) 60.2631 (iii) 59.2631 (iv) 58.2631 (v) 61.2631

4. Find	the	value	of ( ( [81.9	÷	8.19]	+	(2.88	−	[34.72	÷	8.68]))	−	{2.39	✕	( [28.68	÷	4.78]	−	(8.49	−	3.09))})

(i) 8.446 (ii) 5.446 (iii) 7.446 (iv) 9.446 (v) 6.446

5. Find	the	value	of1.19	✕	3.49	+	9.88	+	5.58	✕	9 	−	20.78	÷	10.39 	−	86.8	÷	8.68 	−	6.09

(i) 46.1631 (ii) 47.1631 (iii) 44.1631 (iv) 48.1631 (v) 45.1631

6. Find	the	value	of {5.88	✕	[10	÷	[290.862	÷	{6.78	✕	4.29}]]}

(i) 3.88 (ii) 5.88 (iii) 6.88 (iv) 7.88 (v) 4.88

7. Find	the	value	of8.68	−	4.78	−	30	÷	10 	−	10.88	✕	8.39 	+	21.16	÷	10.58 	−	10.49	✕	7.19

(i) -155.8063 (ii) -156.8063 (iii) -152.8063 (iv) -163.8063

8. Find	the	value	of ( [6	÷	2]	−	( ( ( (6.78	−	5.88)	+	(1.58	−	3.09))	+	8.49)	+	{2.68	✕	{8.19	✕	6.39}}))

(i) -137.1354 (ii) -145.1354 (iii) -134.1354 (iv) -138.1354
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